                                       Ключ к итоговому тесту по математике

                                                            1,2 класс

                                                           1 вариант

	№
	Ответы 
	Баллы 

	1
	4
	1 балл

	2
	1
	1 балл


	3
	2
	1 балл

	4
	3
	1 балл

	5
	4
	1 балл

	6
	3
	1 балл

	7
	2,3,5,6
	 4 балла

	8
	1,2,3,6
	4 балла

	9
	1,3,5,7
	4 балла

	10
	3
	2 балла

	11
	3
	1 балл

	12
	9+7=16
16-7=9

16-9=7
	3 балла

	13
	4
	1 балл

	14
	3)…=77
	2 балла

	15
	2
	1 балл

	16
	1)> 3)>
2)= 4)=
	4 балла

	17
	2
	1 балл

	18
	1)-2)+3)-
	3 балла

	19
	3
	2 балла

	20
	1)45+5=50(р.)- надо заплатить за тетрадь.
2)45+50=95(р.)

Ответ: 95 рублей надо заплатить за блокнот и тетрадь. 
	4 балла


                                                                                 Итого: 42 балла
	«5»
	«4»
	«3»
	«2»

	100-95%
	94-80%
	79-60%
	меньше 60%

	42-40 баллов
	39-33 балла
	32-25 баллов
	меньше 25 баллов


